BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE CAMERON COVE SECTION 1

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS AUGUST 27, 2025 LJA ENGINEERING, INC. A.CAROTHERS AUGUST 28, 2025 0386-0211 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

BIDDER NAME	BASE BID
1) GONZALEZ CONSTRUCTION ENTERPRISE, INC.	\$1,803,906.39
2) BLAZEY CONSTRUCTION SERVICES LLC	\$2,019,743.28
3) TMW LAND SERVICES	\$2,032,109.00
4) NORTHTEX CONSTRUCTION, LLC	\$2,097,710.16
5) PRINCIPAL SERVICES, LTD	\$2,105,251.13
6) FELLERS AND CLARK LP	\$2,330,500.00

CONTRACT TIME: 50/60

, Joe Castro, PE, hereby certify these bid tabulations to be true and correct.



CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE CAMERON COVE SECTION 1

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS AUGUST 27, 2025 LIA ENGINEERING, INC. A.CAROTHERS AUGUST 28, 2025 0386-0211 (9.2)

			1) GONZALEZ CONSTRUCTION ENTERPRISE, INC.		2) BLAZEY CONSTRUCTION SERVICES LLC		3) TMW LAND SERVICES		4) NORTHTEX CONSTRUCTION, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
WATER ITEMS 1. 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2609	\$35.20	\$91,836.80	\$40.00	\$104,360.00	\$37.00	\$96,533.00	\$33.52	\$87,453.68
 8" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE 	LF	1682	\$47.87	\$80,517.34	\$49.00	\$82,418.00	\$48.00	\$80,736.00	\$44.06	\$74,108.92
3. TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	9228	\$0.25	\$2,307.00	\$0.28	\$2,583.84	\$1.00	\$9,228.00	\$0.35	\$3,229.80
4. FLUSHING VALVE UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	9	\$5,673.09	\$51,057.81	\$6,200.00	\$55,800.00	\$5,800.00	\$52,200.00	\$7,042.19	\$63,379.71
5. 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	10	\$2,058.27	\$20,582.70	\$1,940.00	\$19,400.00	\$2,200.00	\$22,000.00	\$2,637.34	\$26,373.40
6. 8" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	2	\$1,116.04	\$2,232.08	\$1,940.00	\$3,880.00	\$1,000.00	\$2,000.00	\$3,340.39	\$6,680.78
7. 12" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	364	\$66.52	\$24,213.28	\$65.00	\$23,660.00	\$58.00	\$21,112.00	\$54.76	\$19,932.64
 12" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE 	LF	107	\$95.39	\$10,206.73	\$128.00	\$13,696.00	\$120.00	\$12,840.00	\$86.72	\$9,279.04
12" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	2	\$1,358.74	\$2,717.48	\$2,100.00	\$4,200.00	\$1,200.00	\$2,400.00	\$3,755.14	\$7,510.28
10. "NEAR SIDE" 1" WATER SERVICE LEAD, SDR-9, HDPE, CTS, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, TRACER WIRE, ALL JOINTS AND FITTINGS, CORPORATION STOP & CURB STOP MANUFACTURED BY FORD METER BOX, METER NIPPLE, MARKER, TAP AND SLEEVE, ETC., COMPLETE IN PLACE	EA	34	\$534.63	\$18,177.42	\$760.00	\$25,840.00	\$680.00	\$23,120.00	\$778.24	\$26,460.16
11. "FAR SIDE" 1" WATER SERVICE LEAD, SDR-9, HDPE, CTS, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, TRACER WIRE, ALL JOINTS AND FITTINGS, CORPORATION STOP & CURB STOP MANUFACTURED BY FORD METER BOX, METER NIPPLE, MARKER, TAP AND SLEEVE, ETC., COMPLETE IN PLACE	EA	63	\$685.22	\$43,168.86	\$1,200.00	\$75,600.00	\$865.00	\$54,495.00	\$1,339.08	\$84,362.04
12. 12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	2	\$3,821.15	\$7,642.30	\$3,600.00	\$7,200.00	\$4,000.00	\$8,000.00	\$4,587.22	\$9,174.44
13. WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$1,150.00	\$1,150.00	\$1,100.00	\$1,100.00	\$1,115.84	\$1,115.84
14. BLUE FINKLET TEST STATION FOR WATER LINE, AS REQUESTED BY CITY OF WALLER, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$280.00	\$280.00	\$500.00	\$500.00	\$788.86	\$788.86
15. DEWATERING FOR WATER LINE, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00	\$30.00	\$6,000.00	\$20.00	\$4,000.00	\$20.00	\$4,000.00
SUBTOTAL WATER ITEMS			•	\$359,759.80		\$426,067.84	_	\$390,264.00	_	\$423,849.59

SANITARY SEWER ITEMS

FRN F-1386

LJA Engineering, Inc.
O:\LAND\0386\0211\082725_Cameron Cove Section 1 WSD_BT

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE CAMERON COVE SECTION 1

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS AUGUST 27, 2025 LJA ENGINEERING, INC. A.CAROTHERS AUGUST 28, 2025

0386-0211 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

				1) GONZALEZ CONSTRUCTION ENTERPRISE, INC.		2) BLAZEY CONSTRUCTION SERVICES LLC		3) TMW LAND SERVICES		4) NORTHTEX CONSTRUCTION, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1	. 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	420	\$48.63	\$20,424.60	\$46.00	\$19,320.00	\$52.00	\$21,840.00	\$43.81	\$18,400.20
2	. 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8' - 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1801	\$49.75	\$89,599.75	\$50.00	\$90,050.00	\$43.00	\$77,443.00	\$52.37	\$94,318.37
3	. 8" PVC SEWER PIPE, ASTM D-2241, SDR 26, 12' - 16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1801	\$50.31	\$90,608.31	\$57.00	\$102,657.00	\$48.00	\$86,448.00	\$45.48	\$81,909.48
4	. TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	6388	\$0.25	\$1,597.00	\$0.28	\$1,788.64	\$1.00	\$6,388.00	\$0.59	\$3,768.92
5	. STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	42	\$2,709.59	\$113,802.78	\$2,700.00	\$113,400.00	\$3,100.00	\$130,200.00	\$3,730.98	\$156,701.16
6	. 8" PVC SEWER PIPE, ASTM D-2241 SDR 26,16'-20' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	471	\$53.11	\$25,014.81	\$76.00	\$35,796.00	\$50.00	\$23,550.00	\$57.03	\$26,861.13
7	. EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	177	\$125.00	\$22,125.00	\$178.00	\$31,506.00	\$165.00	\$29,205.00	\$126.20	\$22,337.40
8	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE"	LF	1117	\$60.57	\$67,656.69	\$72.00	\$80,424.00	\$45.00	\$50,265.00	\$49.08	\$54,822.36
g	SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	34	\$1,436.90	\$48,854.60	\$1,570.00	\$53,380.00	\$1,300.00	\$44,200.00	\$1,326.60	\$45,104.40
10	. VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	3300	\$1.00	\$3,300.00	\$3.90	\$12,870.00	\$2.00	\$6,600.00	\$2.29	\$7,557.00
11	. DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	400	\$20.00	\$8,000.00	\$30.00	\$12,000.00	\$20.00	\$8,000.00	\$20.00	\$8,000.00
12	. STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$759.42	\$1,518.84	\$800.00	\$1,600.00	\$1,100.00	\$2,200.00	\$941.14	\$1,882.28
13	. SANITARY SEWER MANHOLE VENT FOR SEALED MANHOLE, COMPLETE IN PLACE	EA	2	\$4,574.45	\$9,148.90	\$6,000.00	\$12,000.00	\$6,800.00	\$13,600.00	\$2,091.31	\$4,182.62
14	. ADDITIONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND CONSTRUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER). COMPLETE IN PLACE	LF	500	\$1.00	\$500.00	\$16.00	\$8,000.00	\$1.00	\$500.00	\$13.21	\$6,605.00
SUBTO	THE ENGINEERS. COMPLETE IN PLACE TAL SANITARY SEWER ITEMS				\$502,151.28	_	\$574,791.64		\$500,439.00		\$532,450.32
	AGE FACILITIES ITEMS . 24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1442	\$84.34	\$121,618.28	\$71.00	\$102,382.00	\$92.00	\$132,664.00	\$83.07	\$119,786.94
2	. 30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1070	\$101.51	\$108,615.70	\$88.00	\$94,160.00	\$123.00	\$131,610.00	\$101.10	\$108,177.00
3	. 36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	395	\$136.88	\$54,067.60	\$121.00	\$47,795.00	\$157.00	\$62,015.00	\$136.89	\$54,071.55 FRN F-1386

LJA Engineering, Inc.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE CAMERON COVE SECTION 1

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS AUGUST 27, 2025 LIA ENGINEERING, INC. A.CAROTHERS AUGUST 28, 2025 0386-0211 (9.2)

				1) GONZALEZ CONSTRUCTION ENTERPRISE, INC.		2) BLAZEY CONSTRU	2) BLAZEY CONSTRUCTION SERVICES LLC		3) TMW LAND SERVICES		ISTRUCTION, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
4.	48" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	533	\$211.40	\$112,676.20	\$195.00	\$103,935.00	\$248.00	\$132,184.00	\$227.13	\$121,060.29
5.	54" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	816	\$296.56	\$241,992.96	\$284.00	\$231,744.00	\$355.00	\$289,680.00	\$314.23	\$256,411.68
6.	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	26	\$2,507.68	\$65,199.68	\$3,600.00	\$93,600.00	\$3,500.00	\$91,000.00	\$3,489.03	\$90,714.78
7.	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	13	\$3,655.08	\$47,516.04	\$6,400.00	\$83,200.00	\$4,200.00	\$54,600.00	\$5,308.84	\$69,014.92
8.	STAGE I - REINFORCED CONCRETE TYPE "C" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	27	\$1,058.40	\$28,576.80	\$1,700.00	\$45,900.00	\$1,600.00	\$43,200.00	\$1,775.44	\$47,936.88
9.	STAGE II - REINFORCED CONCRETE TYPE "C" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	27	\$1,825.60	\$49,291.20	\$1,650.00	\$44,550.00	\$2,000.00	\$54,000.00	\$2,559.06	\$69,094.62
10.	STAGE I - REINFORCED CONCRETE TYPE "C-1" INLET, (5' OPENING ON ONE SIDE), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,131.20	\$2,262.40	\$1,600.00	\$3,200.00	\$1,800.00	\$3,600.00	\$1,775.44	\$3,550.88
11.	STAGE II - REINFORCED CONCRETE TYPE "C-1" INLET, (5' OPENING ON ONE SIDE), ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,934.40	\$5,868.80	\$2,000.00	\$4,000.00	\$2,400.00	\$4,800.00	\$2,903.25	\$5,806.50
12.	OVERFLOW SWALE, COMPLETE IN PLACE	LF	136	\$2.00	\$272.00	\$5.50	\$748.00	\$10.00	\$1,360.00	\$8.97	\$1,219.92
13.	TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	4255	\$0.25	\$1,063.75	\$0.28	\$1,191.40	\$1.00	\$4,255.00	\$0.57	\$2,425.35
14.	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED 54" RCP TO EXISTING 54" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$250.00	\$250.00	\$300.00	\$300.00	\$500.00	\$500.00	\$923.39	\$923.39
15.	CONSTRUCT REINFORCED CONCRETE TYPE "E" INLET ON PROPOSED STORM SEWER, ALL SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$2,088.80	\$6,266.40	\$4,900.00	\$14,700.00	\$3,000.00	\$9,000.00	\$4,053.79	\$12,161.37
16.	DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00	\$30.00	\$6,000.00	\$20.00	\$4,000.00	\$20.00	\$4,000.00
SUBTOT	AL DRAINAGE FACILITIES ITEMS			-	\$849,537.81	_	\$877,405.40	_	\$1,018,468.00	_	\$966,356.07
1.	ANEOUS ITEMS STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$2,179.89	\$2,179.89
2.	MAINTAIN EXISTING STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,400.00	\$1,400.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$4,616.27	\$4,616.27
3.	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$300.00	\$300.00	\$600.00	\$600.00	\$100.00	\$100.00	\$1,319.17	\$1,319.17
4.	INSTALL FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	8600	\$0.10	\$860.00	\$2.40	\$20,640.00	\$1.00	\$8,600.00	\$1.26	\$10,836.00

FRN F-1386 LJA Engineering, Inc.

BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE CAMERON COVE SECTION 1

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				1) GONZALEZ CONSTRUCTION ENTERPRISE, INC.		2) BLAZEY CONSTRUCTION SERVICES LLC		3) TMW LAND SERVICES		4) NORTHTEX CONSTRUCTION, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	ADDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR	EA	1	\$100.00	\$100.00	\$550.00	\$550.00	\$100.00	\$100.00	\$363.60	\$363.60
	MANHOLES, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE										
6.	CONSTRUCT 8" THICK CRUSHED CONCRETE WITH 6" STABILIZED SUBGRADE, (AS DIRECTED BY GEOTECHNICAL ENGINEER), INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	2618	\$32.65	\$85,477.70	\$40.00	\$104,720.00	\$34.00	\$89,012.00	\$56.75	\$148,571.50
	REGRADE EXISTING BACKSLOPE SWALES, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE- APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1509	\$2.00	\$3,018.00	\$2.80	\$4,225.20	\$10.00	\$15,090.00	\$1.89	\$2,852.01
8.	INSTALL REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	3018	\$0.10	\$301.80	\$2.40	\$7,243.20	\$2.00	\$6,036.00	\$1.43	\$4,315.74
SUBTOT	AL MISCELLANEOUS ITEMS				\$92,457.50		\$141,478.40	-	\$122,938.00	_	\$175,054.18
BID SUM	IMARY										
WATER I	TEMS				\$359,759.80		\$426,067.84		\$390,264.00		\$423,849.59
SANITAR	Y SEWER ITEMS				\$502,151.28		\$574,791.64		\$500,439.00		\$532,450.32
DRAINA	SE FACILITIES ITEMS				\$849,537.81		\$877,405.40		\$1,018,468.00		\$966,356.07
MISCELL	ANEOUS ITEMS				\$92,457.50		\$141,478.40		\$122,938.00		\$175,054.18
TOTAL A	MOUNT BASE BID				\$1,803,906.39		\$2,019,743.28		\$2,032,109.00		\$2,097,710.16

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS AUGUST 27, 2025 LIA ENGINEERING, INC. A.CAROTHERS AUGUST 28, 2025 0386-0211 (9.2)

				5) PRINCIPAI	L SERVICES, LTD	6) FELLERS A	AND CLARK LP
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
WATER I	TEMS 8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2609	\$35.00	\$91,315.00	\$44.05	\$114,926.45
2.	8" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1682	\$52.00	\$87,464.00	\$47.25	\$79,474.50
3.	TRENCH SAFETY SYSTEM FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	9228	\$0.10	\$922.80	\$0.10	\$922.80
4.	FLUSHING VALVE UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	9	\$6,624.00	\$59,616.00	\$6,022.20	\$54,199.80
5.	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	10	\$2,339.00	\$23,390.00	\$2,644.85	\$26,448.50
6.	8" PLUG & CLAMP WITH $2"$ BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	2	\$917.00	\$1,834.00	\$619.70	\$1,239.40
7.	12" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	364	\$60.00	\$21,840.00	\$89.20	\$32,468.80
8.	12" PVC RESTRAINED JOINT WATER LINE, C-900, DR 18, CLASS 235, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	107	\$129.00	\$13,803.00	\$92.45	\$9,892.15
9.	12" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE	EA	2	\$1,213.00	\$2,426.00	\$619.70	\$1,239.40
10.	"NEAR SIDE" 1" WATER SERVICE LEAD, SDR-9, HDPE, CTS, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, TRACER WIRE, ALL JOINTS AND FITTINGS, CORPORATION STOP & CURB STOP MANUFACTURED BY FORD METER BOX, METER NIPPLE, MARKER, TAP AND SLEEVE, ETC., COMPLETE IN PLACE	EA	34	\$1,066.00	\$36,244.00	\$795.35	\$27,041.90
11.	"FAR SIDE" 1" WATER SERVICE LEAD, SDR-9, HDPE, CTS, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, TRACER WIRE, ALL JOINTS AND FITTINGS, CORPORATION STOP & CURB STOP MANUFACTURED BY FORD METER BOX, METER NIPPLE, MARKER, TAP AND SLEEVE, ETC., COMPLETE IN PLACE	EA	63	\$1,737.00	\$109,431.00	\$1,876.05	\$118,191.15
12.	12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	2	\$4,426.00	\$8,852.00	\$4,807.60	\$9,615.20
13.	WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,121.00	\$1,121.00	\$185.90	\$185.90
14.	BLUE FINKLET TEST STATION FOR WATER LINE, AS REQUESTED BY CITY OF WALLER, COMPLETE IN PLACE	EA	1	\$228.00	\$228.00	\$3,222.40	\$3,222.40
15.	DEWATERING FOR WATER LINE, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00	\$20.00	\$4,000.00
SUBTOT	AL WATER ITEMS			-	\$462,486.80	_	\$483,068.35

SANITARY SEWER ITEMS

C) FELLEDS AND CLARKID

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				5) PRINCIPA	L SERVICES, LTD	6) FELLERS A	AND CLARK LP
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
1. 8" PVC	SEWER PIPE, ASTM D-2241, SDR 26, 0' - 8' CUT, INCLUDES BEDDING ACKFILL, COMPLETE IN PLACE	LF	420	\$40.00	\$16,800.00	\$42.40	\$17,808.00
	SEWER PIPE, ASTM D-2241, SDR 26, 8' - 12' CUT, INCLUDES BEDDING ACKFILL, COMPLETE IN PLACE	LF	1801	\$40.00	\$72,040.00	\$42.40	\$76,362.40
	SEWER PIPE, ASTM D-2241, SDR 26, 12' - 16' CUT, INCLUDES IG AND BACKFILL, COMPLETE IN PLACE	LF	1801	\$40.00	\$72,040.00	\$42.40	\$76,362.40
	H SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	6388	\$0.10	\$638.80	\$0.10	\$638.80
	ARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, (0' - 8' , INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	42	\$2,824.72	\$118,638.24	\$2,775.00	\$116,550.00
	SEWER PIPE, ASTM D-2241 SDR 26,16'-20' CUT, INCLUDES BEDDING ACKFILL, COMPLETE IN PLACE	LF	471	\$46.00	\$21,666.00	\$42.40	\$19,970.40
7. EXTRA IN PLAC	DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE CE	VF	177	\$205.00	\$36,285.00	\$142.55	\$25,231.35
SDR 26	IDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, I INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN	LF	1117	\$38.00	\$42,446.00	\$46.00	\$51,382.00
SDR 26	SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-2241, , INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN	EA	34	\$1,161.00	\$39,474.00	\$773.95	\$26,314.30
	INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COMPLETE IN PLACE	LF	3300	\$0.10	\$330.00	\$3.10	\$10,230.00
	ERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL NALL DEPTHS, COMPLETE IN PLACE	LF	400	\$20.00	\$8,000.00	\$20.00	\$8,000.00
	ARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, ETE IN PLACE	EA	2	\$994.00	\$1,988.00	\$941.95	\$1,883.90
13. SANITA PLACE	RY SEWER MANHOLE VENT FOR SEALED MANHOLE, COMPLETE IN	EA	2	\$5,128.00	\$10,256.00	\$2,602.70	\$5,205.40
CONST	ONAL COST FOR MODIFIED "A-A" BEDDING FOR WET SAND RUCTION, ALL DEPTHS, ALL SIZES, (TO BE USED ONLY AS DIRECTED BY GINEER). COMPLETE IN PLACE	LF	500	\$10.00	\$5,000.00	\$0.01	\$5.00
	TARY SEWER ITEMS			•	\$445,602.04	-	\$435,943.95
	.ITIES ITEMS P STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND LL, ALL DEPTHS, COMPLETE IN PLACE	LF	1442	\$98.00	\$141,316.00	\$127.70	\$184,143.40
	P STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND LL, ALL DEPTHS, COMPLETE IN PLACE	LF	1070	\$117.00	\$125,190.00	\$143.20	\$153,224.00
	P STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND LL, ALL DEPTHS, COMPLETE IN PLACE	LF	395	\$171.00	\$67,545.00	\$182.60	\$72,127.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				5) PRINCIPAI	L SERVICES, LTD	6) FELLERS AND CLARK LP	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
4.	48" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	533	\$269.00	\$143,377.00	\$262.90	\$140,125.70
5.	54" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	816	\$382.00	\$311,712.00	\$364.05	\$297,064.80
6.	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	26	\$3,134.00	\$81,484.00	\$2,416.80	\$62,836.80
7.	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	13	\$5,504.23	\$71,554.99	\$7,427.85	\$96,562.05
8.	STAGE I - REINFORCED CONCRETE TYPE "C" INLET, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	27	\$1,513.00	\$40,851.00	\$1,158.85	\$31,288.95
9.	STAGE II - REINFORCED CONCRETE TYPE "C" INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	27	\$2,076.00	\$56,052.00	\$2,577.90	\$69,603.30
10.	STAGE I - REINFORCED CONCRETE TYPE "C-1" INLET, (5' OPENING ON ONE SIDE), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1,575.00	\$3,150.00	\$1,307.55	\$2,615.10
11.	STAGE II - REINFORCED CONCRETE TYPE "C-1" INLET, (5' OPENING ON ONE SIDE), ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,532.00	\$5,064.00	\$3,129.45	\$6,258.90
12.	OVERFLOW SWALE, COMPLETE IN PLACE	LF	136	\$4.00	\$544.00	\$24.80	\$3,372.80
13.	TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	4255	\$0.10	\$425.50	\$0.10	\$425.50
14.	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" BRICK PLUG AND CONNECT PROPOSED 54" RCP TO EXISTING 54" RCP, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$303.00	\$303.00	\$681.65	\$681.65
15.	CONSTRUCT REINFORCED CONCRETE TYPE "E" INLET ON PROPOSED STORM SEWER, ALL SIDES OPEN, ALL DEPTHS, COMPLETE IN PLACE	EA	3	\$3,074.00	\$9,222.00	\$4,864.60	\$14,593.80
16.	DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$20.00	\$4,000.00	\$20.00	\$4,000.00
SUBTOT	AL DRAINAGE FACILITIES ITEMS			-	\$1,061,790.49	_	\$1,138,923.75
	ANEOUS ITEMS STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$2,105.00	\$2,105.00
2.	MAINTAIN EXISTING STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,859.10	\$1,859.10
3.	INSTALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$123.95	\$123.95
4.	INSTALL FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	8600	\$0.10	\$860.00	\$1.25	\$10,750.00

BID TABULATION FOR:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE CAMERON COVE SECTION 1

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				5) PRINCIPAL SERVICES, LTD		6) FELLERS A	ND CLARK LP
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
	DDITIONAL COST FOR UNSATISFACTORY SOIL CONDITIONS FOR IANHOLES, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$10.00	\$10.00	\$500.00	\$500.00
(A	ONSTRUCT 8" THICK CRUSHED CONCRETE WITH 6" STABILIZED SUBGRADE, IS DIRECTED BY GEOTECHNICAL ENGINEER), INCLUDES GEOTEXTILE ABRIC, COMPLETE IN PLACE	SY	2618	\$48.00	\$125,664.00	\$92.95	\$243,343.10
S1 95	EGRADE EXISTING BACKSLOPE SWALES, INCLUDES EXCAVATION, TRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 5% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE- PPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	1509	\$4.00	\$6,036.00	\$6.20	\$9,355.80
	ISTALL REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), OMPLETE IN PLACE	LF	3018	\$0.10	\$301.80	\$1.50	\$4,527.00
SUBTOTAL	MISCELLANEOUS ITEMS			-	\$135,371.80	-	\$272,563.95
BID SUMM	ARY						
WATER ITE	MS				\$462,486.80		\$483,068.35
SANITARY S	SEWER ITEMS				\$445,602.04		\$435,943.95
DRAINAGE	FACILITIES ITEMS				\$1,061,790.49		\$1,138,923.75
MISCELLAN	EOUS ITEMS	,			\$135,371.80		\$272,563.95
TOTAL AM	OUNT BASE BID				\$2,105,251.13		\$2,330,500.00